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[1096] 2|87 5 HcA = 42 5 AU & 2L = 42 :

@) Xﬂ+ y=x (5%)
dx

(b) xd—y+y2=x (5%)
dx

[10%)] &7 7fes = f258 2 2
Xy'+ 2y =sinx, x>0

[10%)] &7 7desr = f258 2 2
y'+y'+1.25y =0

[10%] FT A = 4255 2 f3
y"+4y'+3y=¢'

[10%)] & 7 e = 42 % 52 f2
6 -1
X' = X
5 4

[10%] Leta=| i ]

and B = [2 _1]

1 2
(a) Compute AB.(5%)
(b) Let ¢ = AT — B. Compute €& (5%)

1 0 3
0 3 0f

2 0 5

[10%] Let A =

(a) Find the determinant of A. (5%)
(b) Find the inverse of A. (5%)
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[10%] Let A=| 2 —4 0 -2

-1 2 4 5

(a) Find the rank of 4. (5%)
(b) Find a basis for the column space of 4. (5%)

1 -2 3 2]

-1 1] 0
[20%] Let A=|-1 -2 —1]. (Hint: 4 = -1 is an eigenvalue of 4)
2 2 1

(a) Find the eigenspace for 4 corresponding to the eigenvalue 1 =—-1. (5%)
(b) Find all eigenvalues for 4 (other than A =-1) BRT A1 =-1 USNHIEMFEE. (5%)
(c) Find a nonsingular matrix Xand a diagonal matrix D such that 4 can be

factored into a product A = XDX 1. (10%)
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